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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63/0SS/1, Set— on the Answer-Book.
(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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Time : 3 Hours] [Maximum Marks : 100

g 3 gL

[T’Ii’aﬁ : 100

Note : (1)
(i)
(iii)

ot )
(ii)
(iii)

All questions are compulsory.
Marks allotted to each question are indicated against it.

Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Select the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.

af vl & IO AR |

Td% W9 o GMY IHP o fag T ¥ |

YT W& 1 ¥ 10 9% & Y% 99T H IR fased — (A), (B), (C) du1 (D)
g o H uh a9 I0gH ¢ | 9l fqeedt § ¥ We IOX g q™n ol
ST-gRaeT § UeT "' % "M IR fae | sg-faemedl ue % fog
arfaier w9g w&l fear s |

1 Production possibility curve is a ............... . 1

(A) Concave curve (B) Convex curve

(C) Negatively sloped straight line (D) Positively sloped straight line

(A) 3rEdd I BT § (B) I« @b BT

(C) =A% @ ardl diel ¥ar & (D) 99TcH% oo™ Tl el @m ®

2 A firm is not a price taker under : 1
(A) Monopoly (B) Monopolistic competition
(C) Oligopoly (D) All the above
Th HH HIAT-TIBID TEl T oo
(A) TSR & STid (B) UsI¥ehiicds Wio™ifar & eraiid
(C) ST & ST=Iid (D) Swied Wl & rd
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3 Supply curve of goods shifts when : 1
(A) Price of the goods falls (B) Price of the goods raises

(C) Income of the seller changes (D) Tax rate changes

(A) a& B HEA T T (B) a&] @ HWd Fodl ©
(C) foshar &1 oM Sgeal & (D) *X P I FI&A @
4  Marginal utility means : 1

(A) Utility from the first unit
(B) Utility from the last unit
(C) Difference between utility from the last unit and utility from first unit

(D) Total utility divided by number of units consumed.
G SUAIRT &1 31 2

(A) UEHl @R § U SUAIRTET

(B) @ s@s & g IuAIfTr

(C) otf<a9 3@1E o U=l 3@ & U<l SUAINTAT &l 37X
(D) P IYANRC + ITART B T IHEAl

5  The expenditure that creates an asset is called .............. . 1
(A) Capital expenditure (B) Budgetary expenditure
(C) Plan expenditure (D) Revenue expenditure
e =gg | ufemata &1 fEw S &, 39 |
(A) Toira =g ®ed ¥ (B) oo =99 wed &
(C) T =T wed & (D) T = BEd ©
6  Value of investment multiplier depends upon : 1

(A) Average propensity to consume (B) Average propensity to save

(C) Marginal propensity to save (D) None of the above
fragr o @1 g iR e ® -

(A) offEd SUa 9gia o (B) s s=a yafa «
(C) dmMra sad ygfa o (D) Sy § far o @
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7 Who creates credit ? 1

(A) Central Bank (B) Commercial Bank
(C) Government (D) All the above
UG BT Yo BT BT & 7
(A) w= ¥h (B) arftifvaes S
(C) w@KR (D) Sy gl
8  Which of the following is called national income ? 1

(A) Net National Product at factor cost
(B) Net National Product at market price
(C) Net Domestic Product at factor cost
(D) Net Domestic Product at market price

frfafea & & o T o wed © 7
(A) e @rd R e T8 SaR
(B) ™R qed WX et T IR
(C) «rEd &N X Mad o8 3dE
(D) SR @@ WX Fa@ o Idr

9  Which of the following is a stock ? 1
(A) Wealth (B) Population
(C) Money supply (D) All the above
frrfaied & & &9 @1 ®ied & ?
(A) TR (B) wE®@mn
(C) g1 3myfd (D) SUTeRT Al
10 Range is the . 1

(A) largest value of a distribution

(B) Smallest value of a distribution

(C) Sum of largest and smallest values of a distribution

(D) Difference between largest and smallest values of a distribution

fore wh SO BT . |

(A) |9 <91 9

(B) US® BRI & 8

(C) 999 §3 3R ¥9d BIE T &1 AT
(D) T8 93 &R 999 B & & =X
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11 Explain any two functions of Central Bank. 3

HET S b hel T BT Bl AT BT |

12 Explain the problem of ‘what to produce’. 3
FIT AT B Bl THET B AT BT |

13  Explain any two factors that cause a shift in demand curve. 3

U fh=l T Bl &l aren Hivie 99 917 o Ragadl 3 |

14 Explain “number of firms™ as the basis of distinguishing different market 3
forms.

fafir=1 vy % IO w91 & oMU & WY H CHAT @ e’ fagwar a9y |

15 Explain “lack of common unit of measurement” as demerit of barter 3
system with the help of an example.

TEEIdT § IUN BNy |

16 Explain the effect of excess supply of a commodity on its equilibrium price. 3

T a5 DI I SAMUFRT BT IqDb! AT DA X THE DI AT DT |

17 Give the meanings of average propensity to consume and marginal propensity 3
to consume.

3fEd IUHN Ugia 8 HM SUHRT ygra & o Iaisy |

18 State any three uses of index numbers. 3
qasiel & B3 A ITART FARY |

19 Explain the meaning of “mixed income of self employed™” with the help of 3
an example.

“g-Frafaa el @ iy sma @1 1Y U IR @ gERdr 9 99HE’ |

20 Give the meanings of micro economics and macro economics. 3

=fte srefome ofik Tufte ardfome & o1 SaEy |
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21 Distinguish between the following :
(a) Revenue receipts and capital receipts

(b) Direct tax and indirect tax
frrefaied & A8 @iy ¢

(a) T witaEl SR SinTa it
(b) v BT R AT B

22 Calculate arithmetic mean from the following data.

fr=feRaa otirs! & SIGTTR 91T &7 Ufead BN |

Marks / si® 0-20 | 20-40 | 40-60 | 60-80

Number of students / feenfeiay @ g 12 14 16 8

23  Explain the concepts of (a) closed economy and (b) investment.

(a) 95 srfegaren &R (b) FEY & er@amend g9y |

24 Explain two causes of a rightward shift of supply curve.

g a6 % I AR Rawa % A BN @ AT BT |

25 Explain the law of diminishing marginal utility.

TEIE GHT ST &1 a9 9933y |

26 Complete the following table :

Preafifiae At & g0 HR
Output Total Cost Average Variable Marginal
(Units) (Rs.) Cost (Rs.) Cost (Rs.)

SR (3HEA) | FA 9P (5.) | ofa uiEdt e (8.) | A 9 (S.)
0 40
| 20 | e
2 e | T
3 | - 6 | -
4 | - 6 | -
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27 Calculate Net National Product at factor cost. 6

(Rs. in crores)

(1) Remuneration of eMpPlOYEES .....ccccvveeriiiieiiiiiiiieciieeeeeeee e 5,000
(1i1)) Mixed income of self employed.........ccoeeviieiiiiiiiiiiniiiieiieeieeee, 8,000
(1) RENT eeiiiiiieeeeeeee ettt e e et e e e e e e e eeanaaee s 500
(IV)  PTOTIE et e e e e 1,000
(v)  Consumption of fixed capital ........ccccoeeeviiiieeiiiieiiieiieeeeeeeeeeee 200
(Vi) Net INAIFECt tAXES .oveeeeiuirieeeeeiiiieeeeeiieeeeeeetee e e e e e e e eeiare e e e earreeeeenaaaneeas 700
(vii) Net factor income to abroad..........cccceeeecuiiiiiieiiiiie e 40
(VII1) BONUS oeiieiieee ettt e e e taae e e e enareeeeenes 60
(ix) Employees’ contribution to social SeCUrity ........cccceevueerriiierriiieennneens 100
(00 I 8110 (L] USSR 800

I TG T ad TR ST BT Ihad Hitd |

( M )
(i) w@-FARTal & BRI ST o 8,000
(1) TR oo 500
(IV) TTH ettt e e e e ettt e e e e e e e e e et ettt e e e e e e e e e eabbbbrnnes 1,000
(v) Rz dair T 200

.

(Vi) T STHRIET B .uviiniiiiiiieeieeeeeeeee et 700
(ix) HHEE! BT AHAITD GRET H ARTEIT .ot 100
(X) BTOT ettt e ettt e e e e e e e e ettt e e e e e e e et ettt e e s 800

28 Define price elasticity of demand. At a price of Rs. 10 per unit the demand 6
of a commodity is 500 units. When its price falls by 10 per cent its quantity
demanded rises by 60 units. Calculate its price elasticity of demand.

AT %] HAA A Dl Tt AT |10 3. 9T 3@ SHFd 9% Th axg Bl AT 500
TIPS ¢ | 9 3T HFd 10 FG9 &Y 8 S & af 39! JET 960 60 IH1s 9 Sl
T | 3D AT B AT BT GHAT DINTT |
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29 Explain fiscal measures to control the situation of excess demand in an 6

cconomy.
e el # AN o @l Rufq @ guRT % AU TSN Sl &
TR DT |

30 From the following data calculate Laspeyre’s price index number. 6
frrefaRad el & TRUTX & DA YAbih B UHAT DIy |
Commodity Price Quantity
B | Base Year | Current Year |Base Year | Current Year
R Y g YR 9 g

P 4 8 16 20

Q 8 10 24 28

R 12 4 40 16

S 16 12 44 24
31 Describe three phases of the law of variable proportions. 6

giadl oTuTal & FEm @ dF srawensti &1 i @iy |

32 From the following data calculate coefficient of correlation between X and 6
Y by direct method.

frrefafaa siids! & ywe fafy gra X iR Y & 9 deday urie &1 qiead Hivg |

X|[6]5
Y5463
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Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.
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Write your Question Paper Code No. 63/0SS/1, Set— on the Answer-Book.
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English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
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(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
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Time : 3 Hours] [Maximum Marks : 100

g 3 gL

[T’Ii’aﬁ : 100

Note : (1)
(i)
(iii)

ot )
(ii)
(iii)

All questions are compulsory.
Marks allotted to each question are indicated against it.

Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Select the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.

af vl & IO AR |

Td% W9 o GMY IHP o fag T ¥ |

YT W& 1 ¥ 10 9% & Y% 99T H IR fased — (A), (B), (C) du1 (D)
g o H uh a9 I0gH ¢ | 9l fqeedt § ¥ We IOX g q™n ol
ST-gRaeT § UeT "' % "M IR fae | sg-faemedl ue % fog
arfaier w9g w&l fear s |

1  Which of the following is a stock ? 1
(A) Wealth (B) Population
(C) Money supply (D) All the above
frfafad & ¥ @9 @1 €k & 7

(A) Tmfa

(B) wHE®Em

(C) a1 amyfd (D) swde @+

2 In which market form marginal revenue of a firm is always equal to its 1
average revenue ?

(A) Perfe

ct Competition (B) Monopolistic competition

(C) Monopoly (D) None of the above

fope IR @Ew ¥ U B 1 QT ST 9ed 36 ofEd S &% SXE) el § 7
(A) i wfEiR (B) usmiitrnTacTs wiqaiimar

(C) UpIHHT (D) 3uled o ¥ fopelt § &
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3 Range is the . 1
(A) largest value of a distribution
(B) Smallest value of a distribution
(C) Sum of largest and smallest values of a distribution

(D) Difference between largest and smallest values of a distribution

(B) 999 BRI T
(C) 999 §9 3R ¥ 9 BIE I &1 AR
(D) &«q 935 3R G BIC qedl &1 =]

4  Who creates credit ? 1
(A) Central Bank (B) Commercial Bank
(C) Government (D) All the above
g B GO B BT 8 7
(A) ®=E d% (B) arfoios 6
(C) W@ (D) SUTRT |l

5  Revenue expenditure creates . 1
(A) an asset (B) a liability

(C) Either an asset or a liability (D) Neither an asset nor a liability
T @Y Gl Bl & —

(A) gwfaq & (B) zaa @

(C) = df wwufa &1 ar R &1 (D) = & gwfa &1 iR 7 & i &

6  Production possibility curve is a ............... . 1

(A) Concave curve (B) Convex curve
(C) Negatively sloped straight line (D) Positively sloped straight line

(A) o 9% BT § (B) ST 9 BT ¥
(C) s @™ el Sl T (D) oeicTe oA arel diel @ §
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7  Value of investment multiplier depends upon : 1
(A) Average propensity to consume (B) Average propensity to save
(C) Marginal propensity to save (D) None of the above
et o @1 g R wRar ¥ -

(A) SiEd IY¥RT Jga WX (B) sf\d Toa wgfa W
(C) dm=1 s9d ygfa 9 (D) SWea ¥ fopdll 9X &
8 Marginal utility means : 1

(A) Utility from the first unit

(B) Utility from the last unit

(C) Difference between utility from the last unit and utility from first unit
(D) Total utility divided by number of units consumed.

M SuiTar &1 ot ¥

(A) UEW 318 § T ITATT

(B) <4 3@ & W< IUARTET

(C) arf<aw 3@ SR el 3&lE & W< SUANTET &l e}
(D) P& ITANR + ITART DI T ITHEal

9  Supply curve of goods shifts when : 1
(A) Price of the goods falls (B) Price of the goods raises
(C) Income of the seller changes (D) Tax rate changes

IE] & Y Wb RIFHAT & T ... |

(A) I& B HEA Tl T (B) a&] @ ®Wd Todl ©
(C) fashar &1 oM SE@dl & (D) X & X gEal ®
10 Which of the following is called national income ? 1

(A) Net National Product at factor cost
(B) Net National Product at market price
(C) Net Domestic Product at factor cost
(D) Net Domestic Product at market price
freafafaa & @ fod T &g wed ¥ 7

(A) EE @r ) | T sae

(B) SR qe@ WX Faa U< Idr

(C) de AF W Mo =X SdR

(D) R g W e =93 Sde
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11  Explain the effect of excess supply of a commodity on its equilibrium price. 3

T a5 D Id AR BT SHH AT HFd I TAE Dl AT DY |

12 Give the meanings of micro economics and macro economics. 3

e Fdyme ik afe orefome & ot 9aEu |

13 Explain any two functions of Central Bank. 3

Hsg 96 & fpel S HEl @l AT By |

w

14 Give the meanings of average propensity to consume and marginal propensity
to consume.

3fEd ST Ygra iR AT SUWIT ygra & o1 SaiRy |

15 Explain the problem of ‘what to produce’. 3
TN IART B B TIRT D AT DI |

16 State any three uses of index numbers. 3

qa&ie & B3 A ITART FART |

17 Explain any two factors that cause a shift in demand curve. 3

U A=l & Bl Bl aren Hive 99 917 o Ragadr & |

18 Explain “lack of common unit of measurement™ as demerit of barter 3
system with the help of an example.

qEEal § U BT |

19 Explain the meaning of land in economics. 3
srdeme W M &1 ot EEEEy |

20 Explain “number of firms” as the basis of distinguishing different market 3
forms.

fafiT=T g & 9 w4 % U & 'Y W CHHT & g’ fagvar gusmsy |

63/0SS/1-318-B | 5 % [ Contd...



21

22

23

24

25

26

Explain the concepts of (a) closed economy and (b) investment.

(a) 95 srfegaren &R (b) FEIY & er@umend gqHAEY |

Calculate arithmetic mean from the following data.

ST HTEd T UNehed DIy |
Marks / 3% 0-20 | 20-40 | 40-60 | 60-80
Number of students / fqenfrat & dwn 4 8 10 8
Explain the law of diminishing marginal utility.
BIEAM G ITARET &1 a9 q9A:3T |
Distinguish between the following :
(a) Revenue receipts and capital receipts
(b) Direct tax and indirect tax
Preaferfias & W2 @ :
(a) T wiiEr iR gSinta ikat
(b) v B 3T T B
Explain two causes of a rightward shift of supply curve.
R o % T iR RaEE % @ BN % e AR |
Complete the following table :
Frrfatea arfeet & QU it
Output (units) | Marginal Cost | Average Cost Total Cost
I (3HTE) A AT AEa A F A
e 20
| 2860 | -
2 - 7 | -
3 - 3 | -
e 10 -—--
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27 From the following data calculate Laspeyre’s price index number. 6
frrfiea sffersl & TRIAT & DA YAhich B THAT DT |
Commodity Price Quantity

RIS Base Year | Current Year |Base Year | Current Year

R Y 1 I IR TY g

P 4 8 16 20
Q 8 10 24 28
R 12 4 40 16
S 16 12 44 24

28 The quantity demanded of X falls from 400 units to 360 units when its price 6
rises by 8 per cent. Calculate its price elasticity of demand. Is its demand
elastic ?

X a5 &1 %a 8 Uiaetd qo & 3da! AT 400 3HEal ¥ "ewt 360 IHEAT 8 Sl
T | 3BT AAT DI @I BT YRHhAT HINTT | T 39 T A€eR & 7

29 Explain fiscal measures to control the situation of excess demand in an 6
economy.

TH T H A oniue w Rafd B gERT & W TS Sul @
Tl BINT |

30 Calculate Net National Product at factor cost. 6

(Rs. in crores)
(1) Remuneration of eMpPlOYEES ......cccvievviiieiiiiieiieeeiee e 5,000
(i1)) Mixed income of self employed.........ccooeiiiniiiiiniiiiniiiiiiieeieee 8,000
(1) RENT eeiiiiiieee et e et eeara e e e e eeaanaee s 500
(6070 T 55 (0 ) 1 USSP 1,000
(v)  Consumption of fixed capital ........cccoeeeviiiiiniiiiiiiieeeeeeeeeeeeeeee 200
(Vi) Net INAIFECt tAXES .ovveeeiiriieeeeiiieeeeeiieeeeeeetree e e eere e e e e erre e e e eraeeeeenaeneeeas 700
(vii) Net factor income t0 abroad...........cccooeeiiiiiiieiiiiiei e 40
(VII1) BONUS ooeiiiiiiiee ettt e ettt e e e e e trae e e e eaaaeeeeenn 60
(ix) Employees’ contribution to social SeCUrity ........cccceeevuveeevuieeriiieeernneenns 100
(X)  INEEIEST oottt et e et e e e ra e e e e e aanaea s 800
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31

32

e AN T TR ST &1 Ihad Hited |

(i) w@-FARTal & BRI ST o 8,000
(1) TR Lottt ettt et 500
(v) Rz dair qT 200
.

(Vi) T STHRIET B.cuviiiiiiiiiiiiieieeie ettt ere et eae s s 700
(VD) TR oottt ettt ea ettt 60
i [ T TTHISTe gReT § ANE™ 100
(ix) LT H TMTETT oo

(X)) BTOT ottt ettt e e e e ettt e e e e e e ettt e e e e e e e e e nnaaes 800

Describe three phases of the law of variable proportions.

uftadl Ul & Fra| @ O sraranet @ auie Sty |

Calculate coefficient of correlation between X and Y by direct method.

X iR Y & d= yad fafa a0 aedsy e & qided o |

X|[8|7]6]|5
Y| 71615
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FHUAT GST-TS Bl ST9 o 1o T9T—IF b HoA s3I QAT A Dl I 81 GEAT & T TH Y88 % T8 HUL Bl
IO B S N d o o eI dis wa H F |
IR § UEaH-Tag s st fafdse et & erfafiaa w5l ot ormAie faes uX et @1 s
ST AT |
I IT-gRaet I Y995 &l @is g 63/0SS/1, ﬁz- ford |
(®) H9T-U hadt &S/ Tremm A ¥ | fpT o, I ong T ot T & 1 fepely uep T A SR € wehd &
ST, T, B, Teepd o R |
mw%%wﬁ%qwamﬁ%@ﬁswﬁwwﬁwmﬁ% |
gy ey & wg o & erfafied fopdl o wiwr & oo fomed & @1 999 & g9sH ¥ B Al
Ffear | Tafaar wr R haw srddw! s |

(@)
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Time : 3 Hours]

ECONOMICS

AT
(318)

[Maximum Marks : 100

gy : 3 "L [quie : 100
Note : (i)  All questions are compulsory.
(il)) Marks allotted to each question are indicated against it.
(iii) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Select the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.
et ¢ () |W ueAl & SR AT |
(i) Y&® 9T & TEA STk ofh fog M@ OE |
(i) WeT & 1 ¥ 10 9% & 9d® 999 H AR faswed — (A), (B), (C) qam (D)
g, e @ e 999 SugE & | 9l faeedl W @ ®El IO g a9 STuel
ST-gRaeT § UeT "' % "M IR fae | sg-faemedl ue % fog
HAfaie gaa @l fear s |
1 Marginal utility means : 1

(A) Utility from the first unit

(B) Utility from the last unit

(C) Difference between utility from the last unit and utility from first unit

(D) Total utility divided by number of units consumed.
RICISEEECIRCICI I

(A) UTHl IHE 9§ U SUAIRTAT

(B) atfaH st & U<l U

(C) arf<w gabrg 3R Ueell 3bis | W ST ®l =X
(D) Po SUARET + IUHT B T gHEEr
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2 In which of the following markets price is equal to average revenue ? 1

(A) Monopoly (B) Oligopoly
(C) Perfect competition (D) All of the above
frfafad o & o8 a9 o ®HMd $Ed I & 93E Bl & ¢
(A) THITHBR (B) ST
(C) Tof R (D) Twr T
3 Who creates credit ? 1
(A) Central Bank (B) Commercial Bank
(C) Government (D) All the above
g B GOl B BT 5 7
(A) & §& (B) arftiias S
(C) ¥R (D) YTt Al
4  Which of the following is a stock ? 1
(A) Wealth (B) Population
(C) Money supply (D) All the above
frefated & § &9 @1 ©i6 § °
(A) = (B) @
(C) W& g (D) SUa |4l
5  Fiscal deficit is equal to : 1

(A) Total expenditure — Revenue receipts

(B) Capital expenditure — total receipts

(C) Total expenditure — total receipts

(D) Total expenditure — total receipts excluding borrowings
TSHNIG AT ST BT & —

(A) F@ = — T Wit

(B) el =@ — gl st

(€) Fo = — g it

(D) P& =T - FO B BIEH FA Waam
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6  Supply curve of goods shifts when : 1
(A) Price of the goods falls (B) Price of the goods raises
(C) Income of the seller changes (D) Tax rate changes

IE B Y a6 Ra@ebar & TS ... |

(A) I% B BE T @ (B) I # Hd Teal
(C) fashar &1 o qE@l & (D) & & & qq&A &
7  Which of the following is called national income ? 1

(A) Net National Product at factor cost
(B) Net National Product at market price
(C) Net Domestic Product at factor cost
(D) Net Domestic Product at market price

frfafea & & e T o wed © 7
(A) 9rEA A W)X Eaw I @R
(B) IR 7w WX fa@ T Ia@E
(C) de @ra R Med 74 ||
(D) R g WX fad = SR

8 Range is the . 1
(A) largest value of a distribution
(B) Smallest value of a distribution
(C) Sum of largest and smallest values of a distribution
(D) Difference between largest and smallest values of a distribution

foeam W Aol @ L |

(A) |9 <31 9 3

(B) US® BRI & &

(C) w99 3 o §a9 Bl ! & I
(D) 999 §3 3R 999 Bl & B 3T

9  Production possibility curve is a ............... . 1
(A) Concave curve (B) Convex curve
(C) Negatively sloped straight line (D) Positively sloped straight line

(A) orEdd 9% BT § (B) O« @b BT
(C) =TH®% @™ ardl diel ¥ar & (D) 99TcH% oo™ Tl el @m ®
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10 Value of investment multiplier depends upon : 1
(A) Average propensity to consume (B) Average propensity to save

(C) Marginal propensity to save (D) None of the above
fragr o a1 g fR war ® -

(A) oEd STAN Ygfa o (B) of|d I=d ygfd W
(C) dm=a s9d ygfd 9 (D) Swed ® fedr 9x &

11 Explain “number of firms™ as the basis of distinguishing different market 3
forms.

fafir=1 Y & IO w91 & oMU & WY H CHAT @ e’ fagwar a9y |

12 Explain “lack of common unit of measurement” as demerit of barter 3
system with the help of an example.

FeTaar ¥ Ui BT |

13  Give the meanings of average propensity to consume and marginal propensity 3
to consume.
fEd IUHN ggia 8iX €M SUHRT Ygra & o7 qaEy |

14 Give the meanings of micro economics and macro economics. 3
e srefeme ofiR gafte srefemes % o1 §aEy |

15 State any three uses of index numbers. 3
qasiel & B3 A ITART FARY |

16 Explain the problem of ‘what to produce’. 3

FT SATET B Dl THET Bl AT DN |

17 Explain the effect of excess supply of a commodity on its equilibrium price. 3

Th IR DI Y SR B IqD] GIAT B I YHE B AT DI |
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18 Explain any two factors that cause a shift in demand curve. 3

U fp=l 2 Bl & aaren Sivie 99 1917 9% Ragedar ¥

19 Give the meanings of domestic income and national income. 3

T A IR U o & e SaEy |

20 Explain any two functions of Central Bank. 3
H2T 9% & B2l q HET B AT BT |

21 Explain two causes of a rightward shift of supply curve. 4

gii ok % I AR Rawe & & BN @l AT BT |

22 Calculate arithmetic mean from the following data. 4
frrfaiea sffesl & SfBTRRIE AT &1 IRehaT BT :
Marks / 3% 0-10 | 10-20 | 20-30 | 30-40
Number of students / feenf¥fai o1 e 12 10 8 10

23 Distinguish between the following : 4

(a) Revenue receipts and capital receipts
(b) Direct tax and indirect tax

frrefafaa & ¥ ST

(a) o witadr SR ST yfat

(b) UTH BT AR ATAL HY

24 Explain the law of diminishing marginal utility. 4
TEAM GH SUAIRTT &1 a9 a9 |

25 Explain the concepts of (a) closed economy and (b) investment. 4

(a) 95 srfegaren &R (b) FEyr & er@urend g9wEy |
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26 Complete the following table:
FrrefeRaa drferest @ g Sifeg -

Output (units)

S (3FE)

Average fixed Cost (Rs.)
Araa fer @ (8.)

Marginal Cost (Rs.)
M W (S.)

Total Cost (Rs.)
Fa @ (%)

B W= O

30
40
48
54
57

27
economy.

Explain fiscal measures to control the situation of excess demand in an

g el # AN o @l Rafq @ gu % AU TSN Sl &

T HINTT |

28

When is the demand of goods said to be perfectly elastic ? Price of

commodity A falls from Rs. 25 per unit to Rs. 20 per unit. As a result of
it, its demand raises from 400 units to 500 units. Calculate its price elasticity

of demand.

&I I AT Bl YO AEIR B BEl T & ¢ A TG DI HEG 25 . UG 3HE A

20%. Ui 3B T UX 3@ "7 400 3BT § TeBh 500 IHE & IR T | 9@

AT Bl DHIEd @ BT GhAaT DI |

29

From the following data calculate Laspeyre’s price index number.

frrafafad siies! & AEEX & YA Yabie B UEAT BT |

Commodity

Price

Quantity

g

Base Year

YR 99

Current Year

EICEL]

Base Year

YR 99

Curr

EIC L

ent Year

v X O T

4
8

12
16

8
10
4
12

16
24
40
44

20
28
16
24

30 Describe three phases of the law of variable proportions.

uiedl STuTdl & FE| @ O sTaRenet @ auie Hifeig |
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31 Calculate Net National Product at factor cost.
(Rs. in crores)
(i) Remuneration of eMPlOYEES ......ccccevviieriiiiriiiiriieiieeieeee e 5,000
(i1)) Mixed income of self employed.........ccoeeviieiiiiiiiiiiiiieeeieeeeeee, 8,000
(1) RENE eeeiieieeee ettt e et e e e e e e e eeanaee s 500
(IV)  PTOTIE i e e e e 1,000
(v) Consumption of fixed capital .........cccoeeeviiiiiiiiiieiiieeiie e 200
(Vi) Net INAIFEC tAXES .ovieeeiuiriieeeeiiieeeeecieeeeeeetee e e e eere e e e e err e e e eearaeeeeenaaaaeeas 700
(vii) Net factor income to abroad ..........ccccveeeriiieriiiieeiiieeiee e 40
(VII1) BONUS ©oeiiieiiieee ettt e et e e e e e taae e e e eaanaeeeenes 60
(ix) Employees’ contribution to social SECUrity .........ccceevveeevviiierriiieennineenns 100
(00 I 01103 (L] S SRS 800
I AT WX ad TSI ST T Uead it |
(. =l )
(i)  BEATN BT TTCHARIB ..ot 5,000
(i) TRl B BB SR o 8,000
(1) BT oo 500
(IV) TTH ettt ettt e e e e e e ettt e e e e e e e e e e e ettt e e e e e e e e e eabbbannanes 1,000
(v) RGO BT ST oo 200
(Vi) TR STHRIET BTttt 700
(vii) TaReT @ T "I M. 40
(VD) TR ettt ettt ettt et ettt 60
(ix) HHEE! BT IS GRET H TRTEIT .ot 100
(X)) BTOT ettt et e e ettt e e e e ettt e e e e e e e ettt e e e e e e e e e e nnanes 800
32 Calculate coefficient of correlation between X and Y by direct method.
X R Y % 99 yae [ty g geEdy Uit bl uiead By |
X|4|[5]6
Y |2
63/0SS/1-318-C | 8 %
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